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1. BRH
(Lo 4 #XET) £E27 1 BRE (@ F)
g xR | #& # N REER
BIHRR RIEER = % %[ Z_mRE | Z_GRE
BF604F 2,805 — — 324 2,481 162 2,319
TR 24 2,442 - - 352 2,090 123 1,967
14 1,698 - - 273 1,425 92 1,333
124 1,327 611 716 167 549 63 486
174 1,100 584 516 181 335 48 287
24 872 528 344 153 191 22 169
(LOHR)
F /4 % 4 g 8 o
BRMER | RERR | ® % X[ F—nrE | Z0RE
HBFI604F 1,363 - - 185 1,178 129 1,049
TR 24 1,188 - - 184 1,004 100 904
14 844 - - 130 714 56 658
124 614 205 409 91 318 46 272
1745 429 217 212 78 134 35 99
224 350 201 149 66 83 18 65
JIR#X)
=3 ¥/ 4 # ) 4 p 8 = b
BRHERER RFERR = % %[ Z—nnE | Z-GR=
HBFI604F 665 - - 79 586 21 565
TR 24 608 - - 81 527 15 512
14 449 - - 90 359 19 340
124 367 152 215 65 150 11 139
174 320 145 175 68 107 9 98
224 277 148 129 69 60 1 59
(K X)
g2 x| 8  %| gepes | gEss
BHER RFERR = % %[ Z_nRE | Z-_GRE
IBFI604F 403 — — 34 369 7 362
TR 24 334 - - 46 288 8 280
14 203 - - 24 179 12 167
124 161 109 52 4 48 6 42
174 227 127 100 25 75 4 7
224 145 95 50 13 37 3 34
(B EriR #h XX )
g X #® £ N s
SEMER | RERR | ® % X[ F—mR%E | F_ARE
IBFI60F 374 - - 26 348 5 343
TR 24 312 - - 41 271 0 21
14 202 - - 29 173 5 168
124 185 145 40 7 33 0 33
174 124 95 29 10 19 0 19
24 100 84 16 5 11 0 11
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2. (R5%) BERAO

(DT 4 X E) EE2F 1 ARE (B A)
# i El o
£ R o 24 5 =S
BEEt [ 14mLLT15~64m%: 65 LI E B PRI 16~645% 66m AL | & &t P 14mLAT: 15~645%  65m A E
¥R 2% 10,053: 1,570:  6,360: 2,123] 4,918 818; 3,204 896 5,135 152 3,156; 1,227
TH# | 6,654 863: 4,031: 1,760] 3,244 434: 2,049 161 3,410 429: 1,982 999
1221 4,916 bbb 2,722: 1,639 2,31 271 1,372 128] 2,545 284; 1,350 911
1715 1,759 136 906 mni 860 15 457 328 899 61 449 389
25| 1,123 80 565 478 540 45 281 214 583 35 284 264
(L 2HR)
# i El #
£ ® % # 2 23
B&E 4L 15~645% 655 LLE StOTABRLIT  15~645% 165l E| & & I T4ELIT 15~645% 655 LLE
T2 4,984 789: 3,185: 1,010 , 424 399: 1,590 435] 2,560 390: 1,595 575
#3347 406: 2,087 854 , 644 195: 1,074 375 1,703 211: 1,013 479
1281 2, 311 261;: 1,293 757 , 110 124 648 338] 1,201 137 645 419
174 766 61 404 301 377 27 207 143 389 34 197 158
2% 519 41 271 201 251 21 136 94 268 20 141 107
UIAHX)
# i El o
£ XK % g4 5 ES
BEEt (14mLLT i 15~64m% 65 LI E Bt ITARLAT  15~645% 60 LLE| & & P 14mULT 15~64m: 65U
FR2F| 2,393 341: 1,554 498 , 190 190 796 204 1,203 151 758 294
1% 1,696 226: 1,023 447 831 119 521 191 865 107 502 256
12| 1,274 150 685 439 624 A 348 205 650 79 337 234
115 589 54 287 248 299 34 148 117 290 20 139 131
2% 377 22 163 192 183 13 87 83 194 9 16 109
(KABHRR)
# i El o
£ R 5 24 5 =S
BEEt [ T4mLLT i 15~64m%: 65 LI E B PMARLUUT 15~64i% 65m AL | & &F [ 14RLIT: 15~645%  60m AL
TR 25| 1,388 228 840 320 666 119 413 134 122 109 421 186
1% 835 129 461 245 398 64 230 104 437 65 231 141
124 641 74 357 210 303 36 179 88 338 38 178 122
174 322 13 173 136 145 81 56 177 5 92 80
2% 183 13 102 68 85 47 30 98 5 55 38
(R EF iR X)
# i El o
£ XK % # 5 =
B&E 1AL 15~645%  655%LLE Bt AT 156~645% 65Ul E| % & [14RRLUT15~64m% 65 LI E
FRO2%F| 1,288 212 781 295 638 110 405 123 650 102 376 172
1% 776 102 460 214 3N 56 224 91 405 46 236 123
124 690 70 387 233 334 40 197 97 356 30 190 136
174 82 8 42 32 39 21 12 43 2 21 20
2% 44 23 17 21 3 11 1 23 1 12 10
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3. REMMEERRINEERYK

(oM 4 XE BFE2A1BBE EA: F)
e x| e u BEfER R E B =
0.33553#[ ~0.3 [0.3~0.5[0.5~1.0[1.0~1.5[1.5~2.0[2.0~2 5[2.5~3.0]3.0~4.0[4.0~5.0[5 03351k
60| 2. 805 933 536 724 242 117 62 31 61 99
Fr 2| 2442 891 9 418 607 219 87 53 33 21 15 89
7|1 1,698 676 6 250 405 135 59 23 14 31 14 85
12| 1,327 611 8 168 254 92 54 34 11 12 13 70
17| 1,100 584 6 154 169 66 29 9 11 11 10 51
22 872 528 2 86 116 37 19 15 22 47
(EDOHX)
o | s o |ERERE R E B =
TR BH 0.3k ~0.3 [0.3~0.5[0.5~1.0[1.0~1.5[1.5~2.0[2.0~2.5[2. 5~3.0[3.0~4.0][4.0~5.0]5. 0581 &
mEFn60| 1,363 299 183 385 180 103 53 29 57 74
Fr 2| 1,188 280 2 180 325 162 66 45 30 20 14 64
7 844 259 1 109 206 91 48 22 12 24 14 58
12 614 205 2 66 116 69 49 29 10 9 12 47
17 429 217 3 38 50 37 17 9 7 11 7 33
22 350 201 0 17 38 21 10 11 19 33
(JIIA#X)
. o x| EFRBIRE R B =
FRIBR 0.33%#[ ~0.3 [0.3~0.5[0.5~1.0[1.0~1.5/1.5~2.0]2.0~2. 5[2. 5~3. 0[3. 0~4. 0[4. 0~5. 0] 5. 0234
FE#060 665 162 200 214 47 7 7 1 4 23
FR 2 608 194 0 132 189 45 16 4 2 1 1 24
7 449 158 0 92 125 35 8 1 1 4 0 25
12 367 152 1 64 97 19 4 4 1 2 1 22
17 320 145 0 53 75 18 8 0 1 0 3 17
22 277 148 0 44 53 8 6 2 3 13
(R X)
P HRMER R E= B =
0.32%5%%| ~0.3 [0.3~0.5[0.5~1.0[1.0~1.5|1.5~2.0[2.0~2.5]2. 5~3.0[3. 0~4. 0[4. 0~5. 0|5. 05511 &
FZF060 403 216 86 76 15 6 1 1 0 2
TR 2 334 186 7 62 60 10 4 3 1 0 0 1
7 203 119 5 31 34 6 3 0 1 2 0 2
12 161 109 4 22 18 4 1 1 0 1 0 1
17 2217 127 3 47 34 9 4 0 3 0 0 0
22 145 95 2 15 20 8 3 2 0 0
(FrEF R#1X)
o | we |ERBRE R & B =
TR R 0.32%5%%| ~0.3 [0.3~0.5[0.5~1.0[1.0~1.5|1.5~2.0[2.0~2.5]2. 5~3.0[3. 0~4. 0[4. 0~5. 0|5. 05511 &
FEF060 374 256 67 49 0 1 1 0 0 0
TR 2 312 231 0 44 33 2 1 1 0 0 0 0
7 202 140 0 18 40 3 0 0 0 1 0 0
12 185 145 1 16 23 0 0 0 0 0 0 0
17 124 95 0 16 10 2 0 0 0 0 0 1
22 100 84 0 10 5 0 0 0 0 1
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